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i f-Hhish AT E REREEHEE PP HEAEKFRICLDHEE
B 4 R HEE=27.1, HEIJIFE=1838, #iERE=(6, 11.1) -
oENIFRE=11.1, EEIFE=104,
BB IFE=16, FIIfE=11.7
BT FETIFRE=11.6 — BRIIUMFA],
EERRE)IIKREE[FRE]
mEm BUIIGRE=9 HE)RE=(7, 29.7) EEERE/NIKREEI[FRE]
=0 FEIIFE=7.3 — —
Frm HE)IRi5=36 — BRNDMFE]
E3-30H RE)I71E5=35.7, RE)II515=9.1 — —
JIIEET BNIFRE=7.2, —E- KERIFE=20.3 ¥4 )= (8, 25.3) BRINF]
=@M RE) =226, F%)I5H=13.4, RE)IFRE=(5, 22.6), -
FIF) =13 BEH)RE=(5, 13.4)
¥4 )87 ¥R )IFRkE=12.9 ¥4 ) 5RE=(5, 12.9) -
LB R IS FRis=41.8, BRE)I7E=16.2, — —
BIR)IRHE=19.6
FHRZE LT BEmE=14, RE)FRE=10, BE)IRE=(5, 10), -
FBEWL)IFR=20.8, = HJII;E=8.8, LR E=(5, 20.8)
WIH)FE=10.1
k™ 0 IRiS=24.7, EELIFRi%=26, I IGRE=(5, 24.7), —
HaIR)FRE=7.6, YTEJIIRE=20.4 FEWFRE=(5, 20.8),
IR = (5, 7.6),
TrE ) RE=(5, 16.3)
EZL) i) Rt=12.8, KF)IIFE=7.1, FrrE )1 R=(5, 12.8), -
#IR)IRHE=185 A#IIFRE=(5, 7.1),
#IR)IRE=(5, 18.5)
BT REM EE)IIFE=8, FiR)IFE=11.3, BER)IFRE=(6, 26.6), HRNERDLIGE =],
BIRJIFRE=18.6, Fi&)IIFiH=155, BIRIIFRE=(6, 14.9), ERIT R [(BEE]
EX)Rig=8.4 FHE)RiEg=(6, 12.4),
EXIIFEE=(6, 6.7)
i) IET mlRtEE=31.4, FEER)IIFH1E=9.7, miIlFRIE=(5, 25.1), -
IV =61 FE) &R )1 Risi=(5, 9.7)
2B BT mlFRE=31.7, £&)IlF15=5.8 — =
AT BT mlRtEE=22.2, #E0)IFRE=17, BANIFRIE=(5, 13.6), —
ANER I RE=10.2 INERIRE=(5, 10.2)
1k FHET FHE)RE=284, tEAIKE=223, FiE)IRE=(5, 22.7), —

KB WIFRE=8.3, F3XIIFE=14.4,
STIDNGRIS=8.5

£ IR E=(5, 185),
ABWIIGRE=(5, 6),
A= (5, 11.5),
STNNIERE=(5, 8.5)
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BERRE BHAET A I5E=20.1, FIE)I7E=6.3, BAE)II5EE=(5, 20.1), -
#F IR =8 FRIR)IIFE=(5, 6.3),
#PIRE=(5, 7.7)
TG RIFFI =118, B&)IIFRi5=4.8, ERE=(7, 54.2), mENTFRIER]
BARNIRE=73, FEILANIFRE=12.2 BIFF)II k=5, 11.8),
7a)115%18=(6, 3.8),
BRI E=(6, 5.8),
SREILSIFRE=(5, 85)
=K EFE)IIRE=25.6, {FZ)IFEH=20.3 g IFEE=(5, 38.5), e R (RG]
21| 7RE=(6, 20.5)
=10 REILAIGRE=13.6, X)IFRE=11.3 — mENTFRIER]
INEFTH FEFNIGFRE=1.1, FREFIFE=12.1, ey = (5, 34.6), SIS A3
BE)IFRtE=16.6 FREF )= (5, 9.7),
BE)iE=(5, 13.3)
ik BREFIGRE=16.2, FEJIFRE=13.2 FREF)IGRE=(5, 12.3), -
T B )II5RE=(5, 10.1)
hnE HENRE=196, FBIIGE=12.2, nEIRE=(5, 37.3), pE TN
ZH)IRE=15 RE)IFiE=(5, 19.6),
FBIIRiE=(5, 104),
=E)IFRE=(5, 7.5)
(e EHFE=27, Z)IRE=52 — —
TBEEET E#)I5E=6.4 — —
B IERR™ KIIFE=10.1, fR15)IFRE=7.9, ER)IFRE=(7, 33), ERIITRIES]
JKENIFRE=9.2, Zail)IIFE=20.3, mFE=(7, 27.1), EEEWIIKRTIFELE]
EAENIFE=11.5, KEBE)HRE=9.2, XIlFEEi=(5, 10.1),
MREJIFRE=13.2 fais )= (5, 7.9),
JKEIFRE=(5, 9.2),
ZHi1)11 5= (5, 20.3),
B )IIFRE=(5, 11.5),
KiZZERE=(5, 9.2),
ME)IFRE=(7, 13.2)
HHE™ K5 )IIFRE=11.3 — -
g™ EB)IFE=8, XF)IIE=122 FiE)IFE=(5, 24.1), EERTE)IKRTFREN[LE]
RB)I5EE=(6, 6.4)
-2 FRE)IFRI5=14.8, E4f)I5E=9.5 4 RiE=(5, 7.6) BRI TR (ER)
AFET KiEERE=7.8, #EIIRE=145 KERRE=(5, 7.8), EBHRINTRE]
WRE)IRE=(9, 14.5)
t ERET F18)1788=34.9, =)l FtH=12, REIIFRE=(5, 11.8), EEETENKRFEI[LE]
HEIFE=10 7211 574E=(5, 10)
P MAT EEFH=10, MA)I7i1=23.5 #BE)I3iE=(5, 10), -
IMAR)I = (5, 21)
mbhHLh ZR)IIFE=25.2, KB)IFE=158 ZIR)IIRE=(5, 24.8), -
A BJIIFE=(5, 15.8)
KR BRI FRiE=11.9, &I F1H=10.8 R NIFELE=(5, 11.9) -
[EEE 3= 2E™H B IRE=15.6, FaZE)IIFakh=117, BLRE=(7, 29), AW 8],
ANANGRE=11.6, TE)IFE=11, HAIGRE=(5, 19.9), HAN[FAR]
J\RR)IIFRE=4.7, KE)IIFREE=14.4 rER)IIRE=(7, 12.5),
TREE)IIRE=(7, 9.4),
ANANIFE=(5, 11.3),
FENRE=(7, 8.8),
J\RNGRE=(7, 4.7),
AHJIIGRE=(5, 11.8)
&XHET K H)IIFRE=26.7, #£:2)115E=105, KHIIFRE=(8, 21.4), -
SAHIRE=145 &2 )11k E=(8, 8.4)
Him R AT FEHIIFRE=22.7, A3)F7E=116, FHJIRE=(5, 22.7) —
KR RiE=7.3
{EEmEED #RM AW7RE=43.2, \K]IFREHE=186, ALRIE= (5, 34.6), —
KEIFRE=255, /Mk)IIF15i=8.8, J\RIIIFRE=(5, 14.9),
BE)IiE=14.6, BBIE)I|5Ri5=11.6 KEIGRiE=(5, 24.8),
IME N FRiE=(5, 8.8),
BRIE)IRig=(5, 11.6)
sk mlRiE=14, FLW)IFRE=255, FALJIRE= (5, 25.5) —

MFMRIE=125, 5 L)IRE=134

W@ Fs= (5. 12.5)
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